

3) Zjednodušte výrazy:

$$\text{b) } \frac{1 - \cos 2x + \sin 2x}{1 + \cos 2x + \sin 2x}$$

Vzorce :

$$\cos 2x = \cos^2 x - \sin^2 x$$

$$\sin 2x = 2 \sin x \cos x$$

$$\begin{aligned} \frac{1 - \cos 2x + \sin 2x}{1 + \cos 2x + \sin 2x} &= \frac{1 - \cos^2 x + \sin^2 x + 2 \sin x \cos x}{1 + \cos^2 x - \sin^2 x + 2 \sin x \cos x} = \frac{2 \sin^2 x + 2 \sin x \cos x}{2 \cos^2 x + 2 \sin x \cos x} = \\ &= \frac{2 \sin x (\sin x + \cos x)}{2 \cos x (\sin x + \cos x)} = \frac{\sin x}{\cos x} = \operatorname{tg} x \end{aligned}$$

[Zpět:](#)

[Další:](#)